BID RESULTS

SOLICITATION NO. W912P8-07-B-0023

IDIQ SUPPLY CONTRACT BID PACKAGES A & B, NEW ORLEANS DISTRICT, LOUISIANA

SUPPLY CONTRACT A

3-BIDDERS

1. SHAVERS-WHITTLE, CONST., INC.	(L)	\$65,346,753.05	APPARENT LOW BIDDER
2. FOSTER PILING	(L)	\$81,765,887.82	

3. XL RISK CONSULTING, INC. (L) \$84,726,724.29 *

SUPPLY CONTRACT B

2-BIDDERS

1. GULF COAST PRE-STRESS, INC.	(L)	\$2,237,269.63	APPARENT LOW BIDDER
--------------------------------	-----	----------------	---------------------

2. XL RISK CONSULTING, INC. (L) \$7,344,270.00 *

^{*} EXTENSION PRICES ARE INCORRECT

ABSTRACT OF OFFERS - CONSTRUCTION				CITATION N W912P8-	UMBER 07-B-0023	2. DATE ISS 03 No	UED v 2006	3. DATE OF 21 D	PENED ec 2006	PAGE 0F 1	3 PAGES	•		
US A PO E	NG OFFICE RMY ENGINEER DISTRICT, NOD SOX 60267 / ORLEANS, LA 70160-0267			ave opened, read, is abstract all	NAME AND TITLE OF CERTIFYING OFFICIAL (TYPE) Aline Smith						•			
UNRESTRICTED					esponse to this	SIGNATURE DATE SIGNED					ED			
5. PROJI	ECT TITLE				ENT ESTIMATE	9. OFFERS								
IDIQ SUPPLY CONTRACT BID PACKAGE A			(Check A, B or C and complete D, E, and F) A. HIRED LABOR							NO. 2 B. OFFEROR Foster Piling			NO. 3 nsulting, Inc.	
NEW OF	RLEANS DISTRICT				DNABLE CONTRACT ut Profit)	B. BID SECU P.O. Box	RITY (Type and x 5467	amount)	B. BID SECURI 4430 S. I-10	TY (Type and a Service Road '	amount) W., Ste 202	B. BID SECURITY (Type and amount) 64 E. Uwchlan Avenue		
6. NUMB	ER OF AMENDMENTS ISSUED 0004				DNABLE CONTRACT ing Profit)		ents acknow on, LA 7043		C. AMENDMEN Metairie, L	A 70001		C. AMENDMENTS ACKNOWLEDGED Exton, PA 19341		
7A. ITEM NO.	7B. DESCRIPTION OF OFFERED ITEM	7C. EST. QUANTITY	D. UNIT	D. UNI T	D. UNIT PRICE	E. ESTIMA TED			D. UNIT PRICE	E. ESTIMA AMOUN		D. UNIT PRICE	E. ESTIMATED AMOUNT	
0001	Furnishing Steel H-Pile, HP 14X89	480,000	LF	48.70	23,376,000.00	45.00	45.00 21,600,000.00		53.25	25,56	0,000.00	35.80	17,186,250.00	
0002	Furnishing Steel H-Pile, HP 14X73	360,000	LF	40.00	14,400,000.00	37.00	13,320	0,000.00	43.67	15,72	1,200.00	29.36	10,568,750.00	
0003	Paint H-Piling	140,000	LF	45.80	6,412,000.00	21.30	2,982,	,000.00	49.43	6,920	,200.00	18.45	2,582,500.00	
0004	Storage Facility	36	Month	21,000	756,000.00	6,150	221,4	100.00	37,500	37,500 1,350,000.00		220,833.33	7,950,000.00	
0005	Shipping H-Piling up to 65-feet	1,150,000	Ton/ Mile	0.30	345,000.00	0.30	345,0	00.00	0.35	402,	500.00	4.07	4,685,000.00	
0006	Shipping H-Piling over 65-feet	2,300,000	Ton/ Mile	0.30	690,000.00	0.40	920,0	00.00	0.48	1,104	,000.00	4.07	9,350,000.00	
0007	Furnishing Piling, Steel Sheet, Type PZ-22	293,333	SF	17.40	5,103,994.20	14.75	4,326,	,661.75	16.92	4,963	3.194.36	12.08	3,544,164.25	
8000	Furnishing Piling, Steel Sheet, Type PZ-27	558,000	SF	21.40	11,941,200.00	16.85	9,402,	,300.00	18.50	10,32	3,000.00	13.99	7,808,600.00	
0009	Furnishing Piling, Steel Sheet, Type PZ-35	437,707	SF	27.80	12,168,254.60	22.50	9,848,	,407.50	24.78	10,84	6,379.46	18.13	7,934,777.00	
0010	Painting Piling, Steel Sheet, Type PZ-22	58,667	SF	2.60	152,534.20	3.00	176,0	001.00	12.25	718,	670.75	21.89	1,284,213.54	
0011	Painting Piling, Steel Sheet, Type PZ-27	75,000	SF	3.20	240,000.00	3.00	225,0	00.00	14.85	1,113	3,750.00	19.87	1,490,000.00	
0012	Painting Piling, Steel Sheet, Type PZ-35	64,147	SF	2.50	160,367.50	3.00	192,4	141.00	15.73	1,009),032.31	27.46	1,761,395.50	

AB	STRACT OF OFFERS - CONSTRU	1. SOL	CITATION N W912P8-	UMBER 07-B-0023	2. DATE ISS 03 No	SUED ov 2006	3. DATE OF 21 D	PENED ec 2006	PAGE OF 2	B PAGES				
US A PO B	IG OFFICE RMY ENGINEER DISTRICT, NOD OX 60267 ORLEANS, LA 70160-0267				ave opened, read,	NAME AND TITLE OF CERTIFYING OFFICIAL (TYPE) Aline Smith						-		
UNRESTRICTED					is abstract all esponse to this	SIGNATURE DATE SIGNED								
5. PROJE	CT TITLE				ENT ESTIMATE	9. OFFERS						- NO.0		
IDIQ SUPPLY CONTRACT BID PACKAGE A		Α	(Check A, B or C and complete D, E, and F) A. HIRED LABOR			NO. 1 A. OFFEROR Shavers-Whittle Const., Inc.			NO. 2 B. OFFEROR Foster Piling			NO. 3 B. OFFEROR XL Risk Consulting, Inc.		
	RLEANS DISTRICT				DNABLE CONTRACT ut Profit)	B. BID SECURITY (Type and amount) P.O. Box 5467			B. BID SECURITY (Type and amount) 4430 S. I-10 Service Road W., Ste 202			B. BID SECURITY (Type and amount) 64 E. Uwchlan Avenue		
6. NUMB	ER OF AMENDMENTS ISSUED 0004				DNABLE CONTRACT ing Profit)		ENTS ACKNOWLE on, LA 70434	EDGED	C. AMENDMEN Metairie, L	ITS ACKNOWLEI _A 70001	OGED	C. AMENDMEN Exton, PA	ITS ACKNOWLEDGED 19341	
7A. ITEM NO.	7B. DESCRIPTION OF OFFERED ITEM	7C. EST. QUANTITY	D. UNIT	D. UNI T	D. UNIT PRICE	E. ESTIMA TED	F. ESTIMATED AMOUNT		D. UNIT PRICE	E. ESTIMATED AMOUNT		D. UNIT PRICE	E. ESTIMATED AMOUNT	
0013	Shipping Steel Sheet Piles Up to 65-feet	902,300	Ton/ Mile	0.30	270,690.00	0.30	30 270,690.00		0.35	315,805.00		4.07	3,676,360.00	
0014	Shipping Steel Sheet Piles Over 65-feet	967,200	Ton/ Mile	0.30	290,160.00	0.40	386,880.00		0.44	425,56	8.00	4.07	3,934,040.00	
0015	Furnish 18 inch,1/2 inch WT Pipe Pile	14,400	LF	68.70	989,280.00	75.25	75.25 1,083,600.00		62.93	906,19	2.00	46.87	674,980.00	
0016	Painting 18 inch Pipe Pile	1,600	LF	13.10	20,960.00	14.25	14.25 22,800.00		36.95	59,12	0.00	13.39	21,424.00	
0017	Shipping 18 inch Pipe Pile Up to 65-feel	33,674	Ton/ Mile	0.40	13,469.60	0.30	10,102	2.20	0.33	11,11	2.42	4.07	137,135.00	
0018	Shipping 18 inch Pipe Pile Over 65-feet	33,674	Ton/ Mile	0.40	13,469.60	0.40	13,469	9.60	0.48	0.48 16,163.52		4.07	137,135.00	
	TOTAL				\$77,343,379.70		\$65,346, ⁻	753.05		\$81,765,	887.82		84,726,724.29	

AB	STRACT OF OFFERS - CONSTRU		CITATION N W912P8-	UMBER 07-B-0023	2. DATE ISS 03 No	UED v 2006	3. DATE OF 21 D	PENED ec 2006	PAGE OF 3	GES				
US A PO B	IG OFFICE RMY ENGINEER DISTRICT, NOD OX 60267 ORLEANS, LA 70160-0267				ave opened, read,	NAME AND TITLE OF CERTIFYING OFFICIAL (TYPE) Aline Smith								
UNRESTRICTED					is abstract all esponse to this	SIGNATURE DATE SIGNED								
5. PROJE	CT TITLE				ENT ESTIMATE	9. OFFERS						-		
IDIQ SUI	PPLY CONTRACT BID PACKAGE I	В	(Check A	(Check A, B or C and complete D, E, and F) A. HIRED LABOR						NO. 2 B. OFFEROR XL Risk Consulting, Inc.		NO. 3 B. OFFEROR		
NEW OR	LEANS DISTRICT				DNABLE CONTRACT ut Profit)	B. BID SECU P.O. Box	IRITY (Type and 825 – 494 N. I	amount) ⁄/arket St.		TY (Type and amount) hlan Avenue	E	3. BID SECURI	TY (Type and amount)	
6. NUMBI	ER OF AMENDMENTS ISSUED 0004				DNABLE CONTRACT	Pass Ch	ents acknow nristian, MS	39571	Exton, PA				TS ACKNOWLEDGED	
7A. ITEM NO.	7B. DESCRIPTION OF OFFERED ITEM	7C. EST. QUANTITY	D. UNIT	D. UNI T	D. UNIT PRICE	E. ESTIMA TED			D. UNIT PRICE	E. ESTIMATED AMOUNT		D. UNIT PRICE	E. ESTIMATED AMOUNT	
0001	Fabricating Piling, Concrete Precast, Prestressed (14-in X 14-in)	41,500	LF	25.60	1,062,400.00	18.90	784,3	50.00	24.73	1,026,250.00)			
0002	Fabricating Piling, Concrete Precast, Prestressed (16-in X 16-in)	43,000	LF	30.90	1,328,700.00	23.41	1,000	6,630	33.79	1,453,000.00)			
0003	Storage Facility	36	Month	6,000	216,000.00	N/A	No C	narge	22,361.11	805,000.00				
0004	Shipping Precast, Prestressed Concrete Pile up to 65-feet	423,300	Ton/ Mile	0.30	126,990.00	0.3795	160,6	42.35	4.07	1,724,250.00)			
0005	Shipping Precast, Prestressed Concrete Pile over 65-feet	574,050	Ton/ Mile	0.30	172,215.00	0.4976	285,6	47.28	4.07	2,335,770.00)			
	TOTAL				\$2,906,305.00		\$2,237	269.63		\$7,344,270.00				